Half Yearly Examination-2022

Class - [X
_ Sub: General Science
Time : 3 Hours Full Marks : 100
I.  Choose.the correct answer - I x1 0=10
9% TEAD! 1 Sfreq ;
(1)  Which of the following represents a pure substance?
(a) Milk (b) Soil
(c) Air (d) None of the these
s e @t fane swid v
(a) s by =
(c) 3@ (d) &% 9016 A%H

(11)  Which of the following shows Tyndall effect?
(a) A solution of salt
(b) A solution of sugar
(c) A solution of copper sulphate
(d) A mixture of water and milk
= (IO Bred oer organ ¢
(a) f&we o112 =R (b) f A T
(c) FARPAHTAMY (d) MR =ik el

(iii) The cell wall is made up of-
(a) Cellulose

(b) Suberin
(¢) Cutin
(d) None of the above
(FIECA AT Af3e-
(a) OIS (b) PR M
(c) fFEfxaam (d) BoiEa o1 AT
(iv) Ribosomes are the centre for-
(a) Respiration (b) Photosynthesis
(c) Protein synthesis  (d) Fat synthesis
P.T.O.
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(v)

w o

RSN LA F-
(a) A (b) AP FLTHIN

(c) oo 7o (d) CRRFTITR

Which of the following cell organelle is absent in

animal cells?
(a) Endoplasmic reticulum

(b) Plastid
(c) Golgi apparatus
(d) Vacuole

TEA (T (T WL HIFISIETS (ofra1 A1grg 2
(a) g TIES (b)) ¥fPu
(c) sterfet 3igq (d) e

(vi) The tissue which can perform photosynthesis is —

(a) Chlorenchyma
(b) Collenchyma

(¢} Sclerenchyma

(d) None of the above

AR HA0eae a3 o141 o571 Ry 35—
(a) F'E@iEat

(b)  &'=FaiET

(@ CHEISR

(d) e¥a9 bl az"

(vit) Which cell is dead?

(a)  Sieve tube

(b) Companion cell

(c) Phloem fibre

(d) Phloem parenchyma

(D! (B T ?
(a) BIFR TSI (b) FHest @y
(€) GFEE T~a (d) @ CoiraerasiZay
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(viii) Which of the following has the largest inertia?

(@) Apin (b) A pen
(¢) A pencil (d) your body
TR (PR TS AGRSLE AfR?
(a) &1 R (b) GTIE T
(c) «uE Afea (d) COMA =TTl
(ix) The Sl unit of momentum is —
(a) Newton (b) Kgms™'
(¢) Joule (d) Kgs'
43251 S| 9% Te—
(a) weow (b) Kgms’
() T4 (d) Kgs'
(x) AIDSis caused by—
(a) Virus (b) Bacterium
(c) Fungus (dy Protozoan
AIDS (@978 $_S L F—
(a) iEAR (b) carEfaa
(c) (=34 (dy smend
Fill in the hlankﬂ ; 1x5=5
A1) 92 7€ 4
(i) Ev aporation is2 _____ phenomenon.
OIS BT oo o |
(i) A solutionisa mixture.
GGl GO oo

(i1i) Blood has a ﬂu1d matrix called e

(ST TGRG ! e:nana T L @ |

(iv) Is a gn.enhouqe gas.

_ qfay GreEsf (TR

(V) is a very abundant element on our Earth.

WW@@ oAfTTSt 2 CVEATD! TR v
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3. Mark the statements true or false : 1x5=§
O Efetar u% Wiz wug 3 Bz 791 2

(1)

Displacement cannot be zero.

D TG (AR

(i)  The magnitude of the displacement of a particle can

(111)

(1v)

(v)

9.

10.

be greater than the distance traversed.

ﬁmmmwmwwmmwmﬁh
QRT3 9mA

Action and reaction forces act on the same object.
(& v effsfama ans GTED! AFA Gowe T )
Elephantiasis is an ¢xample of chronic disease.

LT (R afqy @ Fe cqerg Gargae

One unit of forcesjs defined as the amount that
produce an acceleration of I ms? in an object of |
Kg mass,

What is sublimation? l
THof 1 fay

What is the fundamental unit of life? ]
Tlea CfAs g fa o

Who discovered the cel]” ]
(T (1 e afafs o

What are Prokaryotes? 1
YTFTIEE T G ¢

Which molecules are called €ncrgy currency? 1

(FTCIR RS (1R =2 371 3 o 23

What are the functional segments of DNA? 1
S @ 933 gza 54

Name the tissue which connects muscle to bone in humans.
[ . P
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11.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

(o)

TR (TS (PPTIIRS S sre i a4 safiea am B
Where are fats stored in our body? 1

SRR (125 6ITZ TS w1 7 ¢

Name the tissue which is responsible for flexibility in plants.

B S oo 2R a1 T am A3 1
What is a tissuc? ' 1

A fee
Which tissue makes up the husk of coconut? |

@Ry T AT TFfera oow I@e

Where is apical meristem found? l
WY SIS I S (IR AW ?
Why are voluntary muscles also called skeletal tissue? |

Qe (ophia 0 s@E (opT) 36 EFRIT?

What is the acceleration of particle moving with a uniform
velocity? 1
HETeIr sfeial T QbR T3¢ 14 fF= 2

Write the S unit of acceleration. |
waq SI 93 feat

Define uniform circular motion. 1
w8 i syewa fore

-

What is the nature of the distance-time graph for uniform

motion of an object? 1

7w oI CHES AY-II (4 DFE P
What is inertia?

o &7

Write the first law of motion.

sife e s Fars! f&)
What do you mean by health?

=1y WA B 3@ e

What do you mean by infectious disease?

weawa (e 3fere & g P.TO.
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26.

27.

28.

29.

30.

31.

32,

(06)

Which system of our body protects us from microbes? |
R (T2 (FAG! THE ST HYZA 2@ SEASF TIW 2]
a7

How docs the antibiotic penicillin act on bacteria? 1
cotfafofem am afbarafbs Ry 3R eo@ e A Fa
Fq?

Name a compound which is responsible for the depletion of

ozone layer. https://www.assamboard.com 1
WG T FA A A aRy e A e

Name two abiotic components of the biosphere. I
SRwaeR 1Y WEe Seirraa A &

Why does diffusion become faster on heating? 2
14 Ffare Aot e feg ans ¢

Mention two characteristics of particles of matter. 2
19 SfdsrR 751 a2 Sy @t |

Write two properties of a colloid. 2
IAACTY w3 YH1 o foran |

Why is Crystallisation technique better than simple
evaporation technique? Write two applications of
crystallisation method. 2+2 =4
TS ATt bR (ol o oy et o
FORIEEGRRGEN

Or/a3al

What is fractional distillation? Why isa fractionating column
used in the fractional distillation apparatus?
AR ATS +afs 2 SR s 15s R SR sires
FEI I AN 3 ?
Why 1s the plasma membrane called a selectively permeable
membrane? 2
@RI fFn werew wRaq et s

Cont..
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34Distinguish between speed and velocity.
wfs S (@51 WA 214w &
a5 Explain why is itdifficult for a fireman to hold a hose, which

ejects large amounts of water at a high velocity? p,

s fee afEmm 0 Qo $F @ S0 sl siEea
a5t 4fa AT 0 Ty =i e
36 What is greenhouse effect? 2
(A5G 573 ¥l f@ ¢
37What do you mean by acid rain? Fxplain.

afes 39y 3feE & 312 a=m #41

38. Why do we prefer to wear cotton cloths during the summer?
stanIfa W Fn SoA1L) @teia Srmd! sew @di

39. Mention three features of cardiac muscles.
TwLopia ot afi S <)

40. The brakes applied to a car produce an acceleration of 6
ms ? in the opposite direction to the motion. If the car takes
2s to stop after the application of brakes, calculate the
distance it travels during this time. 3

MG} GUTS @S AR T <176a (394418 [718 6 ms ? FATa
#B 2'a | A @ avsa feree il 4 2 (e I
FM5, (B0 G2 JAUS NS I wiowa 341 44y [qdn a4t

'

I*J

tad

41. A bus decreases its speed from 80 kmh ' to 60 I\mh "in Ss.

-

Find the acceleration of the bus. 3
AMe 9%7d BfE 5 (@eE 80 kmh ' 4 #1 60 kmh' 78 ZH
SITE | FMEAA e ey @

12." What are the different means by which infectious diseases
3

spread? :
¥ o ofFae aR FFEE (@YX Rafde @7

13. Draw a labelled diagram of unlmul ccll. 4
afiteraa ab! fofes foa wem <41

P.TO.
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44.

45.

Two objects of masses 100g and 200g are moving along the
same line and direction with velocities of 2 ms™' and 1 ms!
respectively. They collide and after collision, the first O.bject '
moves ata velocity of 1.67 ms™'. Determine the velocity of
the second object. 5
100g W% 200g S 751 7 T fiers SF TF 734 (T
TN 2ms™ &% 1 ms- QoA 16 s == 1 7R H29res e
28 % O RS SBR @91 1.67 ms™! T4 | I @
fAfa
Or/=1%al

A bullet of mass 10g travelling horizontally with a velocity
of 150 ms™! strikes a stationary woodcen block and comes to
rest in 0.03s. Calculate the distance of penetration of the
bullet into the block. Also calculate the magnitude of the
force exerted by the wooden block on the bullet.

10g S 01 b1 TSI WS 150ms ! ([0SR 051 4t SRYS
A 4 P13 [FA G5rS 3 AF 0.03s A PN sy A
T | FIHA [FANGIS BANGR SHSTR {3 il 341 | oyt
F154 PIANBITT OB @S AT I 771 W fAefq 31|

Internal Assessment. 10
Qe SEURe
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